= A
N = 0] &F AF S & AN A
20138 & 20 A LB H BASHARR ~ BAHESHARRA
SN BASZARE
Bu: Ay A=A
CHel: CRIo AR CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
BAHEAHAARA 7,680,999 7,557,509 123,490
2 340,652
2 79,477
J| 92,313
&< 7,168,557
Aot =EREH 2,876,655 2,888,697 N 12,042
= 340,652
2 45,976
J| 92,313
= 2,397,714
TOIoAHUSA 1,221,808 1,087,776 134,032
=2 240,652
2 45,976
J| 92,313
== 842,867
FRLAGHI 22 AIALY 65,054 65,054 0
= 32,527
== 32,527
101 Q124 4| 14,145 14,227 N 82
2 7,073
o 7,072
04 JI2ZtHIZ22NEES 14,145 14,227 N 82
Jasg8=x 14,145
OPIR==; 40,8303 x1&H »250 10,208
2 5,104
= 5,104
OFs¢ 40,8303 12 52 2,124
= 1,062
= 1,062
OHA ==& 40,8303 x1H x15 613
= 307
== 306
O5UHAtEI 2 E 1,200
2 600
& 600
202 04| 8,000 8,000 0
2 4,000
& 4,000
01 2Ll 8,000 8,000 0
O3o&#:ALHAULALIH O 8,000
= 4,000
& 4,000
207 & I & d 42,909 42,827 82
= 21,454
o= 21,455
03 A& A 32H| 42,909 42,827 82
OZAA L AT ERQ! 42,909




EN: BEHSHEARR
Bu: Ay A=A
CHel: CRIo AR CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 21,454
= 21,455
YU I HERNCOI TR = 77,500 150,000 AT2,500
J| 31,000
& 46,500
201 LBt | 39,500 67,000 N 27,500
J| 15,800
& 23,700
01 AP 22| d| 37,500 65,000 AN 27,500
OBt 2| 2,000
OdMSEsEIIEIE=2H]| 2,000
J| 800
& 1,200
O2&H| 2,000
OXGYAAE DS I 2,000
J| 800
& 1,200
R E==1i]] 1,000
[@IE==x:]| 1,000
p] 400
& 600
[1BL32 & HI 32,500
J| 13,000
o=} 19,500
02 2324 2,000 2,000 0
OHAIEH SXH S 2,000
J| 800
& 1,200
207 A F 0 38,000 43,000 A5,000
Jl 15,200
== 22,800
03 A& A3 H| 38,000 43,000 A5,000
OZAA L AR ERL 38,000
J| 15,200
= 22,800
FQUAYEELAIAY (TH2) 80,000 0 80,000
=2 40,000
& 40,000
405 KHoHFE S HI 80,000 0 80,000
= 40,000
& 40,000
01 XA 2B F S| 80,000 0 80,000
OAAASEIRZSZD (1) 50,000
= 25,000
& 25,000
O/AAXS0IZ (1) 30,000
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2H: BASAA TR
B AYSDANBE =2
SHel: SOIAASH (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 1,280
207 A RO H| 70,690 93,748 A 23,058
= 35,345
< 35,345
03 A& &2l 70,690 93,748 A 23,058
OBEMAALAZE A 70,690
= 35,345
< 35,345
ZEo g 2el At 16,450 28,200 A 11,750
J| 8,225
< 8,225
207 A RO 16,450 28,200 A 11,750
J| 8,225
< 8,225
03 A& &2l 16,450 28,200 A 11,750
CTAISF 2= KF 2 08 16,450
J| 8,225
< 8,225
dgae| ALK& 39,000 39,000 0
J| 19,500
< 19,500
101 @14 Hl 14,145 28,451 A 14,306
J| 7,073
< 7,072
04 DI Z2XREES 14,145 28,451 A 14,306
OAEEX 14,145
OJdles 40,8303 1 250 10,208
bl 5,104
S 5,104
OF5=% 40,8303 * 1«52 2,124
J| 1,062
< 1,062
Og X< 40,8303 1«15 613
Jl| 307
< 306
OS5 Atz 2 1,200
J| 600
< 600
201 Let24E] 3,000 3,000 0
J| 1,500
< 1,500
01 At 22l 2,000 1,000 1,000
pt=ZHl 2,000
OZH2&ESIIE =2t 1,000
J| 500
< 500




2H: BASAA TR
AU DHRBA= 2
ool COIoAAEN (el @2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
Oul=H| 1,000
Jl 500
< 500
02 s3=29Hl 1,000 2,000 A 1,000
O Z A& HI = Xl 1,000
Jl 500
= 500
202 O 4l 7,000 7,000 0
Il 3,500
= 3,500
01 ZLHO I 7,000 7,000 0
OZg2e| At TAS O8I 7,000
l 3,500
< 3,500
207 & 51 OH £ Hl 14,855 549 14,306
bl 7,427
S 7,428
03 A8 &7l 14,855 549 14,306
OBMASLALDZ ALY 14,855
Il 7,427
= 7,428
OOl 2L HE A A ATHAS 50,000 20,000 30,000
Il 25,000
S 25,000
101 @124 H] 14,145 0 14,145
Il 7,073
S 7,072
04 DIt Z22XsSE+ 14,145 0 14,145
OAagEx 14,145
OPIE=| 40,830 »1E «250 10,208
Il 5,104
T 5,104
OFs=+¢ 40,830 «1H 522 2,124
Jl 1,062
£ 1,062
Odxt=¢ 40,8303 x1H 15€ 613
Il 307
= 306
O5UAMEIEE 1,200
Jl 600
S 600
202 o4 Hl 2,000 2,000 0
Jl 1,000
= 1,000
01 S OHI 2,000 2,000 0
OO0l 2| & XS 2oL A EHAFA OF HI 2,000




SN BASZARE
Bu: Ay A=A
CHelr SO AYE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 1,000
< 1,000
207 A O] 33,855 18,000 15,855
J| 16,927
< 16,928
03 A& & 24l 33,855 18,000 15,855
OBMAALAZE A 33,855
J| 16,927
< 16,928
C2H0IHA S S EAZANYR2S 28,588 28,588 0
J| 8,588
= 20,000
207 A RO 28,588 28,588 0
J| 8,588
< 20,000
03 Al & 12 HI 28,588 28,588 0
OBAMASLAZZE A 28,588
J| 8,588
< 20,000
AESSE 2 4,896 7,011 22,115
& 4,896
207 O &l 4,896 4,896 0
= 4,896
03 Al & 11 HI 4,896 4,896 0
OBAAN AL A2 FF Y 4,896
= 4,896
AT L2 (280121 A 2PAI A AFE) 35,000 30,020 4,980
2 17,500
< 17,500
207 & ROl 11,000 30,020 A 19,020
= 5,500
< 5,500
03 A& &2l 11,000 30,020 A 19,020
OBEAMAAIADZE A 11,000
2 5,500
< 5,500
405 XtatE SHI 24,000 0 24,000
= 12,000
< 12,000
01 AR ESFH S 24,000 0 24,000
OM==Zd 7 (20) 24,000
= 12,000
< 12,000
HHOI2I A& 22 A 53,500 105,021 A51,521
201 Zet24E] 1,500 1,021 479




2N
X ZH -
L= B

el

H Y H

ABAA DA
SEnE B
JEEETESS
— [S=J

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 1,500 1,021 479
[E=3=3:] 1,500
OttoliAd 2 ZE2HEI NS Al 1,500
202 o4dl 3,000 2,000 1,000
01 = LH o4 1l 3,000 2,000 1,000
OOl AE 2 EHA A 3,000
207 A RO 10,000 10,000 0
03 A& & 224l 10,000 10,000 0
OBAMAALADE A 10,000
405 TtabH S| 39,000 92,000 /53,000
01 et ESFH S 39,000 92,000 53,000
O&H 7 39,000
OCco2e! 7 HI0IH 34,000
OadgagxzNesds 5,000
SAEZLSAMSUHE L HA 150,845 165,091 N4,246
101 @144 Hl 14,145 14,070 75
04 JIZHHZ2XREES 14,145 14,070 75
OAEEX 14,145
OJdles 40,8303 1 250 10,208
OF5=% 40,830 «1H x522 2,124
OgXt==< 40,8303 1 152 613
OS5 AtE 2 & 1,200
201 Lt 1,200 1,021 179
01 At 22l 1,200 1,021 179
[E=3=3:] 1,200
OYAZL=sMSTMGRFES A 1,200
202 Od4dl 10,000 10,000 0
01 = LH o4 4l 10,000 10,000 0
Ot sastd g2 A 10,000
207 RO ] 45,000 45,000 0
03 A& &2l 45,000 45,000 0
OBAMAALAZE A 45,000
405 XHobF S HI 80,500 85,000 A 4,500
01 AL ESFH S 80,500 85,000 A 4,500
O&H 7 80,500
OJAIZ0tE DT (1TH) 65,000
OpHOIlEF(1TH) 2,000
OTIZ A= I (1CH) 2,500
OAlH =D (20H) 11,000
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SN BASZARE
Bu: Ay A=A
CHelr SO AYE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
207 A O] 25,335 24,523 812
& 25,335
03 Al & 12 Hl 25,335 24,523 812
OBEMAALAZE Y 25,335
= 25,335
Al Z oA F oM A 2tg| 200,000 0 200,000
= 100,000
< 100,000
405 TtHabF S| 200,000 0 200,000
= 100,000
< 100,000
01 AL EFH S 200,000 0 200,000
O&Ed =< 200,000
OLNEHMIAZ0LEDNTI(2CH) 200,000
= 100,000
< 100,000
PESEAI|EE S 861,050 1,019,734 A 158,684
=X CHE & A AL 104,566 153,491 A 48,925
101 @124 dl 14,145 14,070 75
04 DIt Z22XREES 14,145 14,070 75
Jagsx 14,145
OJdles 40,8303 1 250 10,208
O=5=¢ 40,830 *1H x522 2,124
Ogxt==g 40,8303 1 *152 613
OS5 AtE 2 & 1,200
201 et 1,021 1,021 0
01 At 221l 1,021 1,021 0
[E=3=3:] 1,021
Octd =LA MIRFIZ A 1,021
202 o4dl 16,000 16,000 0
01 = LH o4 1l 16,000 16,000 0
O==XJ L H A 16,000
207 O] 62,400 62,400 0
03 A& &2l 62,400 62,400 0
Ootd+=J = ESHAANSELG2 Y 62,400
405 XHoHF S HI 11,000 60,000 A 49,000
01 HatL EZFH S 11,000 60,000 A 49,000
OZMASEHEHIAIZE2F 11,000
CHOIOF & 24 A 221,338 139,225 82,113
201 -4 14,138 14,231 A93




2H: BASAA TR
B AYSDANBE =2
Sl WEEEHAIIBEA (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2t2l bl 14,138 14,231 N 93
O gyl 11,898
OUIIEFFUEE - DEA A 9,658
CAUZIERSSHIIBCSAM 4,640
-OMHXXNSSEIIE S A 580
-UHESHIIETZHA 704
-ANE2MHII(LH) 263
-AZSIFOI(VOC, EE LBl E) 1,674
-ANEMEII(0IMS X)) E =2 A 525
-THCEAJIZE =& AL 139
-EFAZMFAINZEE A 393
- ZAI BRI EDEBAIR=E2(NESS8E12
cH) 840
OtIIZ20tst 3l bl 240
OUWtIIZ20tI| Et ==&t 2,000
Ol 2,240
OUIIENMIRF=XZAH| 2,240
202 04| 23,000 23,000 0
01 2LH O HI 23,000 23,000 0
OOl otAE & & At 23,000
OAMS I LI A 6,800
O%FH A2SLINSHTZ A 1,500
OUS0SANEAUSBIIEAAM 11,500
OSYIN AR ALZ S EA 2,000
OIS UFALINSES Y 1,200
207 A IR ] 29,200 27,994 1,206
03 A& Y| 29,200 27,994 1,206
OBAALLAZ S AL 29,200
OUIIBH S Al E & At 2,000
OMNEUIESE=2E=2H 2,000
OLFBAEH 6,000
OAUHBIEL2AETZAHA 6,000
OYFEZHEHEEFTIHA 2,500
OMIIENg82HEEZItA 2,900
ONARAIIMNHSTRY 1,800
OGCsZd , A7 6,000
307 212t01 & 24,000 24,000 0
05 A2t E = 24,000 24,000 0
OO SEHUYAMAAES T B4 24,000
405 XH&HF S HI 131,000 50,000 81,000
01 AL 2B FSHI 131,000 50,000 81,000




LT A

AP
AstDANSE= T
Hete )| B A

SH-EHH . B(SH) - NBAY - B Y o A o SSa H RS2

&Y 7L 131,000
OJAIAZ20tEDHT (10H) 60,000
OHXIAZIHFOI(1CH) 22,000
OQOIIAANZEOII(1TH) 8,000
OIA=EI(1TH) 15,000
OAuFZEII(20H) 6,000
O=2=37(1th) 20,000

Ot =L Il = Ot ™ & 2 Al 130,701 161,091 A 30,390

101 @121l 14,245 14,070 175

04 JI2ZtH 22 XNEE % 14,245 14,070 175
OaEEX 14,245
oJl=3 40,8303 x1H %250 10,208
Ox=g24Y 40,8303 1 x52! 2,124
Odxt=¢ 40,8303 *1H x15L 613
o1l =t 100
O5tHAtEI 28 1,200

201 Bt A | 1,200 1,021 179

01 AP 22l Yl 1,200 1,021 179
OH xS AIS 2 X3 Al 8| 1,200

202 04| 14,000 14,000 0

01 2LHOHI 14,000 14,000 0
OAFAXZALMOILIE A 14,000
OAPEAAIY 3,920
Ol &2 LADILH2H o B 3,360
O3ttt =2 2t o 4| 6,720

207 A T OH & | 40,256 53,000 N12,744

03 A& FH| 40,256 53,000 N12,744
OAMNSZ=XNHAZ2Z 00 40,256
OH AL ot=2 AFH(AI ) 10,000
OH =Lt A(ZEX) 8,000
OZ3CtHH =2 2 AF(AlIQF) 1,728
OZ2CSHH L2 HAH(EX) 1,728
OHPEZAFAFSE (AlSH) 6,000
OXHPEAAL (=X 4,800
oA2E1Y 8,000

405 XH&HF S HI 61,000 79,000 A 18,000

01 AL 2B F SHI 61,000 79,000 A 18,000
O&e7¢ 61,000
OToC(BRIIEtA)2AD1 (1) 55,000
ots=s4+2=87(10) 6,000




SN BASZARE
Bu: Ay A=A
SERE ELE EBESS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MEB=4d2aCME2S 17,900 0 17,900
201 24l 800 0 800
01 At 2t 2l 800 0 800
O=gl 800
OMEHSHdEAMSE2 NS4 800
202 O4dl 1,500 0 1,500
01 = LH 4 Hi 1,500 0 1,500
O=2gsZ2 USRS AMOILI2ZAN Y 1,500
207 A O] 15,600 0 15,600
03 A& &2l 15,600 0 15,600
DM =SS HSH FHAI 15,600
H=sSctddHA 198,300 306, 136 A 107,836
201 Let24d] 1,500 1,191 309
01 At 22l 1,500 1,191 309
[E=3=3:] 1,500
OH==ZALRF=ASAHI 1,500
202 044l 11,000 11,000 0
01 = LH o4 1l 11,000 11,000 0
D=8 dHA 11,000
207 51 OH £ H| 55,000 53,945 1,055
03 Al & 11 HI 55,000 53,945 1,055
OH=ESdAMANA=NLLA2 S 7Y 55,000
405 RHoHE S HI 130,800 240,000 A 109,200
01 AL EZFH S 130,800 240,000 A 109,200
&g -4 130,800
OGC/MS 130,000
ox% 800
THIIESSZZAELZA 188,245 259,791 AT1,546
101 @124 dl 14,245 14,070 175
04 JI2ZtHZ22HEE =+ 14,245 14,070 175
[R=R= RS 14,245
OJles 40,8303 *1H »250 10,208
OFs=+¥ 40,8303 1 52 2,124
Og Xt 40,8303 «1H 152 613
o1l =l 100
OS5t Atz 2 1,200
201 ¢er24| 5,400 1,021 4,379
01 At 22l 5,400 1,021 4,379
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10,900

A 87,000
A 87,000
N 38,880

H3r
Wikd
RIS

16,100
16,100

43,600
43,600

185,000
185,000
67,240
5,480

980
980

Off &t 24

2,000
2,000

700
700
2,700
2,700

16,100
16,100
6,300
4,200
5,600

54,500
54,500
54,500

1,200

800
4,000
4,000
4,000
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15,000

750
750
1,000
8,000

98,000
98,000
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28,000
28,360
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ok
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400
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2H: BASAA TR
AU DHRBA= 2
Sl BASWRAIYRAEAL (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 3,000
02 =224l 3,000 5,000 A 2,000
A E EHI R XY 3,000
OASAA/CEHEERASAIZEH R XL S 3,000
= 1,500
< 1,500
202 o4dl 22,000 17,000 5,000
= 11,000
< 11,000
01 = LH &4 1l 12,000 12,000 0
=W bl 12,000
O4dsdddst 12,000
= 6,000
< 6,000
03 =2 R0l 10,000 5,000 5,000
OEss2H83 290t 10,000
=2 5,000
< 5,000
207 RO 112,427 111,324 1,103
= 56,214
< 56,213
03 Al & 1 HI 112,427 111,324 1,103
OAMNLLLADEIL(SS) 112,427
= 56,214
< 56,213
HY2IZH (BEHEFARL) 4,804,344 4,668,812 135,532
& 33,501
= 4,770,843
el 2d | 4,337,264 4,226,392 110,872
& 33,501
< 4,303,763
ol 2AH| 4,303,763 4,192,892 110,871
101 @14 dl 4,151,243 4,038,932 112,311
01 2= 3,944,693 3,851,930 92,763
OJ12=s 2,630,783
O SH 66,772
-43012d8) 63,677,000 x1H 63,677
-43(81dE) 3,095,000 =1 3,095
Oz =H 2,564,011
-52(30&8) 3,849,500& x2H 123 92,388
-62 (245 8) 3,171,900& x1H x 123 38,063
-720988) 2,074,400& x2H 123 49,786
-8=(7188) 1,726,900& x1H x 123 20,723
-oRA (285 ) 5,006,700& x 11« 123 660,885
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2H BHBAADR
H: HY2AAH(BEHSHAHTH)
& o 2d|
SA - ZE-B(EA) - NRAY - B S il &t o il
- P28 E) 3,003,800& *41H x 123 1,477,870
-Jls632 (285 8) 3,305,700& «3H x12& 119,006
-Jls73(1888) 2,626,200 x1H «12& 31,515
-Jlssz (128 8) 2,049,300& «3H x12& 73,775
D&z 213,668
OFSE=Eal=; 2,564,011,000& *1/12 213,668
O=¢ 623,031
OAzte 224 256,157
-3z 9,383 *65H x10Al 2t+12& 73,188
-ZUE 9,383 & *65%25A| 2t 12& 182,969
OPIE=E= 69,000
- B Xt 40,0003 «65H «12& 31,200
- RUIE 20,0003 x150H 123 36,000
- It =g 30,000 «5H 122 1,800
oMdstdlEx=4 43,307
- S 23,9603 *10Y 43 959
-nsshd 423,480 «259H 43 42,348
OFSE= =Pl = 80,640
- 259 0] &f 130,000& x25H «12& 39,000
- 204 01 & 110,000 x24H »12& 31,680
- 15801 &f 80,000& «5H x12& 4,800
- 104 01 &f 60,000 «3H x12& 2,160
- 540 & 50,000 *5H 122 3,000
Ositsd+% 500,000 1 128 6,000
oflg=22=+¢ 37,200
-U3 50,0003 «50H =128 30,000
-22 40,0003 * 15 x12& 7,200
ORYEsREH 50,0003 «5H «12& 3,000
ORI+ 62,253
-532(30&8) 3,849,500 2 x4, 1%+ 12 3,788
-6=(2458) 3,171,900 2 *4, 1%+ 12 3,122
-HAA(27TEE)
3,231, 1003 x34H 4 1%+ 128 54,050
-Jls7a(18g8)
2,626,200& x 18«4 1%+ 128 1,293
O2elgR+Y 5,295,600 »2H 7 .8% 12 9,914
OExgf=+% 55,560
-Jls38s4 5,280
6,72 30,0003 «6H «12& 2,160
8= 20,000 «4H x 128 960
a2 50,0003 1 «12& 600
COHAEZ (OIS E L JIAL
30,0003 «3H 122 1,080
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SN BASZARE
HE: HYSYAH (BARYATE)
gel: o2yl eEH)
SN BA(SA) - MRAY - BES il HImEET
e (28 %) 10,000& »2H 128 240
a3 (2 ) 20,0002 «1H « 128 240
SRR Y 80,000 x52H « 12 49,920
- SR 30,0003 x1H 122 360
OF A G A 130,000 x65H »12& 101,400
O E F 0ty 2,564,011,000& »1/12x60%*23| 256,402
D90k &t
2,630,783,000% 1/12%86%1/30% 19 119,409
03 RIAHAZ 22+ 206,550 187,002 19,548
OAMEEXS 206,550
OJdles 40,8303 *9H x250 91,868
O&0= 91,867,500% *1/12%400% 30,623
OxFs=+¥ 40,8303 «9H x52 19,109
Ogxt=< 40,830 «9H 202 7,350
OFEs=E 9,480
- B X 40,0003 «5H «12& 2,400
- JIEHOES 20,0003 x25H « 123 6,000
- It 32 30,000 «3H 128 1,080
Ous&E x| 60,000 *9H 122 6,480
OFEFItHI 600, 0003 x9H +23] 10,800
OFAZ A 130,000 x9H «12& 14,040
o1l =l 100,000& x9H »23| 1,800
OS5 Atel 2 & 15,000
204 A=A H| 143,880 143,880 0
02 a2 =4 143,880 143,880 0
3= 500,000& 1 122 6,000
4= 400,000 «2H =128 9,600
58,9+ 250,000& x11H ~123 33,000
Oés, o2+ 155,000& »44H 128 81,840
0o7=2,0ls 140,000 x5H »12& 8,400
J1=8~92 105,000& x4 H 128 5,040
303 L& 3 8,640 10,080 A 1,440
01 243 8,640 10,080 A 1,440
OJgsotEssg 120,000 x6H «12& 8,640
olIARYHI(BX) 33,501 33,500 1
& 33,501
101 124 dl 33,501 33,500 1
& 33,501
01 2= 33,501 33,500 1
== 27,460
O¢PAH(22538) 2,288,3008 * 1Y * 128 27,460
& 27,460
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oY MO rior

S

Yol
YA (BABYARH)
bl

SA BB O () - MM - HES il
OoZEx&(3U) 15,000
04 bl 13,000 13,000
=L 13,000 13,000
OgAs3lIsg2sd 13,000
el ] 41,060 41,060
J22d R F2A 9,900 9,900
O 6,600
O=% 3,300
RN H RS 5,360 5,360
XA A& EZ I 80,000& =* 5,360
EMA2IIERFEHI 25,800 25,800
OJ]&H 25,800
O5Z 0l 6t 100,000 * 3R M * 3,600
O15% 0l &t 250,000& * BIHRA * 18,000
O30 0l 6t 350,000& = 1JHR M = 4,200
A 27,000 27,000
Mg AY 27,000 27,000
O 650,000& * 1¥ = 7,800
0= 350,000& * 2% =* 8,400
O+ & 100,000& = 9% » 10,800
THaESF S 35,300 18,500
&L 2SS FHSHI 35,300 18,500
OZetdol T2l E(1TH) 1,500
OGS AR 2101 (20TH) 20,000
2L E (200H) 9,000
Oorso1(2th) 4,800




